
65 Buick GS Fasteners S2 = Black zinc S8 = Dark silver zinc S100 = Chrome head S7 = Cadmium S13 = Chrome S = Plain S45 = Stainless
T.Sollazo & C. Miller Data - Feb 2017

Category Name Gauge TPI Length Head Type AF OD Finish Qty Part Number Qty Per Pkg Price Order Net Price  Page Notes
A/C box Box to firewall Stamped nut S8MX 5 B-12984 6 3.00$      1 3.00$      69
A/C dryer Dryer to inner fender 1/4 14 3/4 Hex washer Tapping S2 2 B-12102 -$        0 -$        80
Air control cables Cable retainers 5/32 Spring Nut 0.44 S2 3 B-10566 15 3.00$      1 3.00$      64
Air Vent Air vent to body under dash 8 18 1/2 Hex Tapping S8 21 B-12074 8 3.00$      3 9.00$      77
Air Vent Air vent to body under dash 8 18 3/4 Hex Tapping S2 2 B-12078 10 3.00$      1 3.00$      78
Alternator Alternator to mounting bracket top w/AC 3/8 16 3 Hex Bolt S8 1 B-11451 2 3.00$      1 3.00$      15
Alternator Alternator to mounting bracket top w/AC 3/8 16 Slotted Locking Hex Nut S7 1 B-11496 2 4.00$      1 4.00$      47
Alternator Alternator to mounting bracket bottom w/AC 5/16 18 3/4 Hex Place Bolt S 1 B-12683 3 4.00$      1 4.00$      32
Alternator Alternator to mounting bracket bottom w/AC 5/16 18 1 1/4 Hex Place Bolt S7 1 B-10210 2 4.00$     1 4.00$     32g
Alternator Alternator to mounting bracket bottom w/AC 5/16 Flat washer S2 1 B-12992 20 3.00$      1 3.00$      180
Alternator Alternator to mounting bracket bottom w/AC 5/16 18 Split Lock washer S2 1 B-13049 25 2.00$      1 2.00$      186
Armrest Pad Screws Armrest to armres base screws 1/4 14 3/4 Pan Tapping 0.49 S2 4 B-12199 8 3.00$      1 3.00$      88
Ashtray Bumpers 2 B-10227 4 3.00$      1 3.00$      164
Ashtray Top Screw 8 18 1/2 Pan Tapping S8 1 B-12153 15 3.00$      1 3.00$      86
B/U lamp switch Wire retainer 1 B-10744 4 2.00$      1 2.00$      153
Back Up Lights Back up light lens screws 1/4 20 1/2 Hex Washer Machine 3/8 0.5 S2 4 B-13295 6 3.00$      2 6.00$      116
Back Up Lights Housings to bumper 8 32 5/8 Pan Machine 0.31 4 No Match -$        
Back Up Lights Housings to bumper 8 15 3/8 Flat Tapping 0.32 2 No Match -$        
Battery Box/Tray Bracket to Frame Bolts 5/16 18 7/8 Conical Hex Machine 1/2 0.75 S2 6 B-11709 6 5.00$      1 5.00$      103 About 50 for the whole car
Battery Box/Tray Tray to Bracket Bolts 5/16 18 5/8 Hex Washer Toothed Machine 0.76 S2 10 B-12548 5 5.00$      2 10.00$    101
Battery Tray Tray to Bracket Bolts 5/16 10 1/2 Hex washer Tapping S2 6 B-11107 4 3.00$     2 6.00$     80Battery Tray Tray to Bracket Bolts 5/16 10 1/2 Hex washer Tapping S2 6 B 11107 4 3.00$     2 6.00$     80
Battery Tray Tray to front bracket 5/16 7/8 Hex Tapping S2 2 B-10054 4 3.00$      1 3.00$      80
Bellhousing Inspection cover screws 5/16 18 3/4 Hex Machine 1/2 0.58 S7 4 B-10879 4 3.00$      1 3.00$      102
Bench Seat Assembly Center Hinge Cover Screw 8 18 3/8 Round Washer Tapping 0.4 S2 1 B-12061 12 3.00$      1 3.00$      89
Bench Seat Assembly Seatbelt Sleeve Screws 8 18 1/2 Round Washer Tapping 0.42 S2 4 B-12238 10 3.00$      1 3.00$      90
Blower Motor Housing Blower Motor Housing Screws 8 18 1/2 Hex washer Tapping S2 4 B-13418 12 3.00$      1 3.00$      77
Blower Motor Housing Blower Motor Housing Screws 8 18 3/8 Hex washer Tapping S2 7 B-11072 10 3.00$      1 3.00$      77
Body Cowl Panel Screws 8 18 5/8 Hex Tapping 1/4 0.5 S2 5 B-11187 6 3.00$      1 3.00$      74
Brake master cylinder MC to Booster 3/8 16 Hex Nut S8 4 B-12789 8 3.00$      1 3.00$      40
Brake master cylinder MC to Booster 3/8 Flat washer S8 4 B-13001
Buick hood emblem Letters to hood Stamped nut S8M 9 B-12971 10 3.00$      1 3.00$      68
Bumpers Bumper Bolt 3/8 16 3/4 Chrome Machine 0.87 S100 2 B-13367 4 5.00$      1 5.00$      6 1.0 length
Climate Control Screws Climate Control Housing to Dash Metal 8 18 1/2 Round Washer Tapping 0 41 S13 2 B-11168 10 3 00$ 1 3 00$ 90Climate Control Screws Climate Control Housing to Dash Metal 8 18 1/2 Round Washer Tapping 0.41 S13 2 B 11168 10 3.00$     1 3.00$     90
Climate Control Screws Climate Control Housing to Dash Metal 8 18 1/2 Hex Washer Tapping 1/4 0.34 S2 1 B-13418 -$        77
Clutch Linkage Wire retainer 1 B-10741 4 3.00$      1 3.00$      153
Clutch push rod Wire retainer 1 B-11574 10 6.00$      1 6.00$      153
Convertible top Frame to body 3/8 16 3/4 Hex Toothed Machine 1 1/4 S2 8 No Match
Convertible top Snap screws No Match -$        
Convertible top trim Rear snap screws 8 18 3/4 Oval Tapping S13 2 B-11205 8 3.00$      1 3.00$      82
Convertible top trim Rear snap sockets Snap socket 99 2 B-14061 8 4.00$      1 4.00$      New Bulk 2
Core Support Core Support to Frame Bolts 5/16 18 7/8 Hex Washer Machine 1/2 0.76 S2 20 B-11709 6 5.00$      4 20.00$    103 About 50 for the whole car
Courtesy lights Brackets under dash 8 18 1/2 Round Washer Tapping S8 2 B-11712 -$        0 -$        90
Cross Rod Bolts Cross Rod Bolts 3/8 16 3/4 Hex Machine 9/16 S2 4 B-10163 2 3.00$      2 6.00$      12
Cross Rod Nuts Cross Rod Nuts to core support 3/8 16 Hex Nut S2 4 B-12788 8 3.00$      1 3.00$      40
Cross Rod Nuts Front X braces to bumper bracket 3/8 16 Hex Flange Nut S2 2 B-12899 6 3 00$ 1 3 00$ 48Cross Rod Nuts Front X braces to bumper bracket 3/8 16 Hex Flange Nut S2 2 B-12899 6 3.00$     1 3.00$     48
Dash Bezel Housing Screws Dash Bezel to Dash Metal Screws 10 16 3/4 Pan Tapping 0.37 S2 4 B-11157 10 3.00$      1 3.00$      88
Dash Bezel Housing Screws Climate Control to Dash Metal Screws 10 16 5/8 Pan Tapping 0.37 S2 2 B-11530 10 3.00$      1 3.00$      88
Dash extension Top screws 8 18 1/2 Round Washer Tapping S8 6 B-11712 -$        0 -$        90
Dash pad To dash 8 18 3/4 Oval Tapping S45 4 B-11524 -$        0 -$        82
Dash pad To dash 10 Stamped nut S2 4 Use ventiport nuts -$        0 -$        69
Dashboard Plastic surround to dash 8 18 1/2 Round Washer Tapping S8 14 B-11712 10 3.00$      4 12.00$    90
Dashboard Ashtray to dash 8 18 1/2 Round Washer Tapping S8 2 B-11712 -$        0 -$        90
Deck Lid Bolts Bolts the deck lid to the hinge 5/16 18 1 Hex Washer Machine 1/2 1.13 **.88 S2 4 B-10895 4 4.00$      1 4.00$      105
Door Panel Panel to door 8 15 5/8 Oval Tapping S45 20 B-11527 50 12.00$    1 12.00$    81
Doors Door Hinge Screws 5/16 18 1 3/8 Screw Machine 0.68 12 B-10040 3 4.00$      4 16.00$    93
Doors Door Hinge Bolts 5/16 18 1 1/2 Hex Screw Machine 1/2 0.62 12 B-10038 6 5.00$      2 10.00$    107
Doors Door Latch Screws 1/4 20 5/8 Oval Machine 0 48 S7 6 B 12527 6 3 00$ 1 3 00$ 121Doors Door Latch Screws 1/4 20 5/8 Oval Machine 0.48 S7 6 B-12527 6 3.00$     1 3.00$     121
Doors Strikers 2 B-12067 1 12.00$    2 24.00$    127
Driver Kick Panel Kick Panel to Body Screws 8 15 3/4 Round Washer Tapping S8 2 B-13286 8 3.00$      1 3.00$      90
Driver Kick Panel Finish screw in carpet 8 18 3/4 Oval Tapping S13 1 B-11216 8 3.00$      1 3.00$      82
Drivetrain Driveshaft Strap Bolts 5/16 24 1 5/16 Hex Flange Machine 7/16 0.5 S2 4 B-10106 4 4.00$      1 4.00$      25
Fan Fan to water pump bolts 5/16 24 1 Hex Bolt 1/2 S8 4 B-10178 4 5.00$      1 5.00$      11
Fan Fan to fan drive 5/16 18 9/16 Hex Washer Machine S2 4 B-12496 6 3.00$      1 3.00$      116
Fat Bird Emblem To fender 10 0.63 Stamped Nut Thread Cutting S2 6 B-13381 10 3.00$      1 3.00$      69
Fender Fender to Body Fasteners (at top by cowl) 3/8 16 1 3/8 Conical Hex Tapping 9/16 1 S2 6 B-11387 4 6.00$      2 12.00$    111
Fender Fender to Body Fasteners 5/16 18 7/8 Conical Hex Tapping 1/2 0.75 S2 2 B-11709 6 5.00$      1 5.00$      103 About 50 for the whole car
Fender Fender to Body Fasteners 3/8 16 1 3/8 Conical Hex Machine 9/16 1.31 S2 6 B-11964 4 5.00$      2 10.00$    111
Fender Fender to Body Fasteners 3/8 16 1 11/16 Hex Washer Tapping 9/16 1.32 8 No Match -$        
Fender Fender to Body Fasteners 3/8 16 1 1/4 Conical Hex Machine 9/16 1 1 $Fender Fender to Body Fasteners 3/8 16 1 1/4 Conical Hex Machine 9/16 1 1 -$       
Fender Inner Fender Support to inner fender bolts 5/16 18 5/8 Conical Toothed Tapping 1/2 0.75 2 B-12548 5 5.00$      1 5.00$      
Firewall Firewall wire clip retainer screws 8 18 5/8 Hex Washer Tapping 1/4 0.34 S2 2 B-11076 10 3.00$      1 3.00$      78
Flat PW harness Under back seat 8 18 1/2 Round Washer Tapping S8 4 B-12239 10 3.00$      2 6.00$      90
Flat wire harness brackets To FW under steering wheel 8 18 1/2 Round Washer Tapping S8 3 B-12239 -$        0 -$        90
Frame Body Mount Bolts 7/16 14 2 5/8 Hex Flange Machine 5/8 0.87 4 B-11629 2 5.00$      4 20.00$    29
Frame Crossmember to Frame Bolts 3/8 16 1 Hex Machine 9/16 S2 4 B-10148 4 5.00$      1 5.00$      12
Frame Trans linkage to frame bracket bolts 5/16 18 3/4 Hex Flange Machine 1/2 0.63 S2 3 B-12589 6 4.00$      1 4.00$      117
Frame Rear Bumper Bracket Bolts 1/2 13 1 1/8 Hex Machine 3/4 S2 4 B-13676 4 4.00$      1 4.00$      21
Frame Front Bumber Bracket Bolts 1/2 13 1 1/8 Hex Machine 3/4 4 B-13676 4 4.00$      1 4.00$      21
Frame Body Mount Bolts at Crossmember 7/16 14 2 1/4 Hex Bolt Machine 5/8 0.88 S2 12 B-11630 6 12.00$    2 24.00$    29
Front Bumper Fender Brace Bolts 1/4 20 1/2 Hex Washer Machine 3/8 S2 2 B-13295 6 3.00$      1 3.00$      116

Page 1



65 Buick GS Fasteners S2 = Black zinc S8 = Dark silver zinc S100 = Chrome head S7 = Cadmium S13 = Chrome S = Plain S45 = Stainless
T.Sollazo & C. Miller Data - Feb 2017

Category Name Gauge TPI Length Head Type AF OD Finish Qty Part Number Qty Per Pkg Price Order Net Price  Page Notes
Front Seat Hardware  8 18 3/4 Round Washer Tapping S8 2 B-13289 -$        91
Front Seat Hardware  8 18 1 Round Washer Tapping S8 2 B-13289 -$        
Front Seat Hardware  8 18 3/4 Flat Head w/male snap Tapping No Match -$        
Fuel filler door Stamped nuts for pins 3/16 Spring Nut 3/8 S2 2 B-10563 30 3.00$      1 3.00$      64
Glove Box Door  Bumpers 2 B-10228 4 3.00$      1 3.00$      164
Glove Box Door Screws Glove Box Door Screws 8 18 1/2 Round Washer Tapping 0.4 7 No Match 3.00$      1 3.00$      
Glovebox Glove Box Frame top & sides 10 3/4 Oval Tapping S45 4 B-11136 8 3.00$      1 3.00$      84
Glovebox To dash 8 18 1/2 Round Washer Tapping S13 4 B-11168 -$        0 -$        90
Glovebox door To dash 8 18 3/4 Oval Flanged Tapping S13 3 B-12179 8 3.00$     1 3.00$     82g pp g
Glovebox door To dash 8 18 3/4 Oval Flanged Tapping S13 2 B-11216 8 3.00$      3 9.00$      82
Glovebox Latch Latch to dash 8 18 1/2 Round Washer Tapping S8 2 B-11712 -$        0 -$        90
Grill and Headlight Bezel Studs for Grill 5/16 18 1 15/16 S 6 B-11032 4 3.00$      2 6.00$      132 1.85" length
Grill and Headlight Bezel Screws for Headlamp Door to Headlight Assembly 8 18 1 1/2 Oval Tapping 0.26 S13 4 B-12149 8 3.00$      1 3.00$      83
Grill and Headlight Bezel 8 18 3/4 Pan Tapping 0.31 S2 4 B-12170 10 3.00$      1 3.00$      86
Grille Grille studs 5/16 18 1 Stud Full Thread S8 4 B-12606 2 2.00$      2 4.00$      132
Grille Grille studs 5/16 18 1 1/2 Stud Full Thread S8 2 B-12607 2 2.00$      1 2.00$      132
Grille Grille stud nuts 5/16 18 Flange washer S2 6 B-12891 6 3.00$      1 3.00$      48
Halo Trim Screws Screws the aluminum halo trim to the roof 8 18 1/2 Flat Tapping 0.27 4 B-11419 12 3.00$      1 3.00$      74
Head Lamp  & Light Assembly Retainer Ring Screws 8 32 3/8 Pan Flat Machine 0.27 S8 8 B-11522 6 3.00$      2 6.00$      122
Head Lamp Door Head lamp assembly trim screws 1/4 10 1/2 Hex Washer Tapping 3/8 0.5 S2 4 B-12097 8 3.00$      1 3.00$      79 5/8 length
Headlight Bezel Bezel to Core support 1 1/4 Oval Tapping S13 8 B-12144 8 3.00$     1 3.00$     83Headlight Bezel Bezel to Core support 1 1/4 Oval Tapping S13 8 B 12144 8 3.00$     1 3.00$     83
Headlight Bezel Nylon inserts B-12923 193
Heater Heater control cover screws 8 18 1/2 Round Washer Tapping S2 4 B-12204 10 3.00$      1 3.00$      89
Heater Heater Box 1/4 14 7/8 Hex Washer Tapping 0.62 S2 B-11198 6 5.00$      -$        
Heater Box Inside heater box to firewall 1/4 20 0.69 Stamped Nut Machine S2 2 B-12959 5 3.00$      1 3.00$      71
Heater Control Screws 8 18 1/2 Round Washer Tapping S8 2 B-11712 -$        0 -$        90
Heater/firewall? Heater box to firewall 1/4 14 1 Hex External Tapping S8 B-11201 6 6.00$      -$        
Hood Adjuster Hood adjuster nuts (same as Grille stud nuts) 5/16 18 2/3 Flange nut S2 2 B-12891 6 3.00$      1 3.00$      48
Hood Hinge Bolts hood to hinge and hinge to body 3/8 16 13/16 Conical Hex Machine 9/16 1 S2 10 B-10835 4 5.00$      3 15.00$    109
Hood Latch Support Bolts the hood latch to the core support 5/16 18 7/8 Conical Hex Tapping 1/2 0.75 S2 4 B-11709 6 5.00$      1 5.00$      103 About 50 for the whole car
Horn Relay Horn Relay to inner fender 1/4 14 3/4 Hex washer Tapping S2 2 B-12102 8 4.00$      1 4.00$      80
Horn to Body Horn to Body Bolts 5/16 18 7/8 Conical Toothed Machine 1/2 0.75 S8 2 B-10900 2 4.00$      1 4.00$      103
Horn to Body Horn to Core Support Bolts 5/16 18 7/8 Conical Toothed Machine 1/2 0 75 S8 2 B-10900 2 4 00$ 1 4 00$ 103Horn to Body Horn to Core Support Bolts 5/16 18 7/8 Conical Toothed Machine 1/2 0.75 S8 2 B 10900 2 4.00$     1 4.00$     103
Inner Fender Bolts for Inner Fender to Fender and Body 5/16 18 7/8 Conical Hex Machine 1/2 0.75 S2 20 B-11709 6 5.00$      4 20.00$    103 About 50 for the whole car
Inner Fender Inner Fender to front clip 5/16 10 1/2 Hex washer Tapping S2 4 B-11107 4 3.00$      1 3.00$      80
Inside Door Side window assembly screws 1/4 20 1/2 Conical Hex Tapping 5/16 0.5 S2 8 B-11868 10 5.00$      2 10.00$    96
Inside Door Vent Window to door Bolt 1/4 20 1/2 Conical Hex Machine 7/16 0.88 S13 2 B-10797 4 4.00$      1 4.00$      96
Inside Door Hinge mechanism to door 1/4 20 1/2 Hex Washer Toothed Machine 7/16 0.56 14 B-11868 10 5.00$      2 10.00$    96
Inside Door Screw 6 20 9/16 Oval Tapping 0.24 1 No Match
Inside Door Vent Window to door Bolt 1/4 20 5/8 Hex Machine 7/16 S13 2 B-12027 2 3.00$      1 3.00$      97
Inside Door Vent Window to door Bolt 1/4 20 3/4 Conical Hex Machine 7/16 0.75 S13 2 B-12109 2 3.00$      1 3.00$      98
Inside Door Inside door to vent window from 8 18 3/4 Oval Tapping 0.31 S45 2 B-12124 10 3.00$      1 3.00$      82
Inside Door 8 18 1 Oval Tapping 0.31 S13 2 B-12134 10 3.00$      1 3.00$      82
Inside Door Vent Window to inside door adjustment screw 10 16 2 1/2 Oval Tapping 0.31 S45 2 B-13281 2 3.00$      1 3.00$      84
Inside Door 1/4 20 7/16 Hex Washer Machine 7/16 0 56 S2 10 B-11868 10 5 00$ 1 5 00$ 96Inside Door 1/4 20 7/16 Hex Washer Machine 7/16 0.56 S2 10 B-11868 10 5.00$     1 5.00$     96
Inside Door Door Handle to Handle Mechanism 1/4 14 1 3/4 Pan Tapping 0.48 4 No Match
Inside Door Window Channel Screws 1/4 20 1/2 Hex Screw Machine 0.75 S2 8 B-10427 6 3.00$      2 6.00$      115
Instrument Cluster Screws on bottom flange 8 18 1/2 Round Washer Tapping S8 2 B-11712 -$        0 -$        90
Kick Panel Kick Panel to Body Screws 8 18 1/2 Round Washer Tapping S8 2 B-11712 10 3.00$      1 3.00$      90
Kick Panel Kick Panel to Body Screws 8 18 1/2 Round Washer Tapping S8 2 B-11712 10 3.00$      1 3.00$      90
License light To Bumper 8 18 3/4 Round Washer Tapping S8 2 B-13289 12 3.00$      1 3.00$      91
License Plate Door Plate to door L186 Ames
License Plate Door * License Plate Door to Bumper Screws 1/4 14 5/8 Hex Washer Tapping 3/8 0.5 S2 2 B-12099 8 3.00$      1 3.00$      80
Miscellaneous 8 18 1/2 Round Washer Tapping S55 B-11167 250 3.00$      1 3.00$      90
Outside Door Door Handle to Door Screws 1/4 20 1/2 Hex Washer Tapping 0.5 S2 4 B-10796 4 4.00$      1 4.00$      96
Passenger kick panel To body 8 18 3/4 Oval Flanged Tapping S13 2 B-11216 -$        0 -$        82
Plastic dash surround To dash 8 18 3/4 Oval Tapping S45 4 B 11524 $ 0 $ 82Plastic dash surround To dash 8 18 3/4 Oval Tapping S45 4 B-11524 -$       0 -$       82
Power Steering Pump Pump to front bracket 3/8 16 1 Hex Washer Bolt S8 2 B-10149 4 5.00$      1 5.00$      12
Power Steering Pump Pump to front bracket 3/8 Flat washer S8 4 B-13001
Power Steering Pump Pump to rear bracket 3/8 16 Hex Nut S8 2 B-12789 8 3.00$      1 3.00$      40
Power Steering Pump Pump to rear bracket 3/8 Flat washer S8 2 B-13001 12 3.00$      1 3.00$      180
PW to harness Under dash 8 18 1/2 Round Washer Tapping S8 9 B-12239 -$        0 -$        90
Radiator Support Radiator Support to Core Support Screws 5/16 18 5/8 Hex Flange Tapping 1/2 0.68 S2 2 B-10104 6 6.00$      1 6.00$      117
Radiator Support 5/16 18 7/8 Conical Hex Tapping 1/2 0.62 S2/S8 1 B-12558 4 4.00$      1 4.00$      102
Radio panel screws Two on bottom 8 18 1/2 Round Washer Tapping S13 2 B-11168 10 3.00$      1 3.00$      90
Rear Armrest Screws Rear seat spacer to rear panel screws 8 18 3/4 Oval Flanged tapping S13 5 B-11216 8 3.00$      1 3.00$      82
Rear Armrest Screws Seat filler panel screws 8 18 3/4 Pan Tapping 0.31 S8 5 B-12171 10 3.00$      1 3.00$      86
Rear Armrest Screws Rear armrest to Body Screws 8 18 3/4 Oval Flanged Tapping 0.36 S13 6 B-12179 10 3.00$      1 3.00$      82
Rear Bumper Chrome head Bumper Bolts 1/2 13 1 1/4 Carriage Machine 1 05 S100 4 B 12762 2 3 00$ 2 6 00$ 7Rear Bumper Chrome head Bumper Bolts 1/2 13 1 1/4 Carriage Machine 1.05 S100 4 B-12762 2 3.00$     2 6.00$     7
Rear Quarter Rear Quarter Channel to window frame screw 10 24 1/2 Flat Screw Machine 0.36 SS 6 B-10387 6 3.00$      1 3.00$      93 Stainless
Rear side panels To body 8 18 3/4 Oval Flanged Tapping S13 12 B-11216 -$        0 -$        82
Remote Mirror Inside actuator plate 8 18 1/2 Oval Tapping SS 2 B-11112 12 3.00$      1 3.00$      81
Rocker Molding To Body 8 18 1/2 Round Washer Tapping S2 8 B-11711 10 3.00$      1 3.00$      90
Rocker Panel Trim Rocker Panel Trim to Rockwer Panel Screws 8 18 1/2 Hex washer Tapping 5/16 0.39 S8 8 B-12074 8 3.00$      1 3.00$      77
Rocker Panel Trim Rocker Panel Trim end screws to body 8 18 1 Oval Tapping 0.31 S13 2 B-12134 10 3.00$      1 3.00$      82
Rocker Panel Trim Rocker Panel Trim to Rockwer Panel Screws 8 18 1/2 Hex Tapping 1/4 0.34 S2 16 B-13418 12 3.00$      2 6.00$      77
Seat belts - Front Shouldered No Match -$        
Seat belts - Front Straight No Match -$        
Seat belts - Rear Straight bolt No Match -$        
Seat belts - Rear Washer No Match -$        

Page 2



65 Buick GS Fasteners S2 = Black zinc S8 = Dark silver zinc S100 = Chrome head S7 = Cadmium S13 = Chrome S = Plain S45 = Stainless
T.Sollazo & C. Miller Data - Feb 2017

Category Name Gauge TPI Length Head Type AF OD Finish Qty Part Number Qty Per Pkg Price Order Net Price  Page Notes
Seat belts - Rear Nut No Match -$        
Seat Hockey Sticks Hardware for Hockey Stick Attachment A134C Ames
Sill plates Screws to body 8 18 3/4 Oval Tapping S45 20 B-11524 50 10.00$    1 10.00$    82
Spare tire J-hook 5/16 18 9 3/4 J Bolt S8 1 B-11380 1 8.00$      1 8.00$      32
SS Wheel Moldings Moldings to body - Front 8 18 3/8 Pan Tapping S8 18 B-12057 20 3.00$      2 6.00$      85
SS Wheel Moldings Moldings to body - Rear 8 18 7/16 Round Washer Tapping S15 14 B-10063 32 6.00$      1 6.00$      89
Steering Steering Box to Frame Bolts 7/16 14 4 3/8 Hex Machine 5/8 S2 3 B-11362 3 10.00$    1 10.00$    19
Steering Idler Arm Bolts 3/8 16 1 1/4 Hex Machine 9/16 S2 4 B-11616 4 6.00$      1 6.00$      13
Steering Column Firewall Plate Bolts for the plate to firewall 10 16 5/8 Hex Washer Tapping 5/16 0.4 S8 5 B-11087 10 3.00$     1 3.00$     79g p pp g
Steering Wheel Horn Bar Steering wheel to steering wheel horn bar screws 8 32 1/2 Pan Machine 0.31 S2 4 B-12531 10 3.00$      1 3.00$      122
Suspension Sway Bar to Frame Bolts 5/16 18 1 1/8 Hex Flange Machine 1/2 0.65 S2 4 B-12507 4 6.00$      1 6.00$      24
Suspension Control Arm Bolts 1/2 13 3 3/4 Hex Machine 3/4 S2 12 B-13749 2 10.00$    6 60.00$    22
Suspension Upper Control Arm Bolts 7/16 14 2 5/16 Hex Machine 5/8 S2 4 B-10185 4 10.00$    1 10.00$    18
Suspension Axle Retainer Bolts 3/8 24 1 Machine 8 B-13964 4 8.00$      2 16.00$    New Item Page 3
Suspension Brake Caliper Bolts 5/8 18 7/8 Hex Bolt Machine 15/16 S2 2 B-10181 2 14.00$    2 28.00$    23
Suspension Brake Backing Plate Bolts 1/2 20 2 1/6 Hex Bolt Machine 3/4 S2 4 B-13250 2 8.00$      2 16.00$    22
Suspension Rear Axle Differential Cover (71 GM 10 bolt) 5/16 18 5/8 Hex Flange Machine 1/2 0.68 S2 12 B-10018 12 12.00$    1 12.00$    24
Suspension Steering Joint Bolt 3/8 24 1 3/16 Hex Flange Machine 7/16 0.61 S2 1 B-12734 1 3.00$      1 3.00$      28
Tail lights Center bars 1/4 20 KEPS nut 0.75 S36 8 B-13436 4 3.00$      2 6.00$      52
Temp control Temperature control to dash 8 18 3/4 Oval Tapping S13 4 B-11216 8 3.00$      1 3.00$      82
Trunk Trunk assembly bolt 1/4 20 5/8 Hex Split Wash Tapping 3/8 0.44 S8 1 B-12303 4 3.00$     1 3.00$     98Trunk Trunk assembly bolt 1/4 20 5/8 Hex Split Wash Tapping 3/8 0.44 S8 1 B 12303 4 3.00$     1 3.00$     98
Trunk Lock Bolts* Bolts the Truck Lock mechanism to the body 1/4 20 5/8 Hex Toothed Machine 7/16 0.75 S2 2 B-10891 5 4.00$      1 4.00$      97
Vent Windows Vent window screw/washer 1/4 20 3/4 Hex Machine S13 2 B-12109 2 3.00$      1 3.00$      98 Incl. washers
Vent Windows Vent window nylon washer 0.22 0.96 Nylon washer Washer Nylon 2 B-11750 10 3.00$      1 3.00$      180
Ventilator Frame Lower Adjuster 1/4 20 1 1/4 Kep Nut Conical S13 2 B-12735 2 4.00$      1 4.00$      52
Ventilator Top Screw 10 2 1/2 Oval Tapping S45 2 B-13281 2 3.00$      1 3.00$      84
Ventiports Inserts to housing 10 Stamped nut 0.5 S2 4 B-13271 10 3.00$      1 3.00$      69
Ventiports Ventiports to fender 10 Stamped nut 0.63 S2 4 B-13381 10 3.00$      1 3.00$      69
Visor Visor screws 8 18 3/8 Oval Tapping SS 6 B-12054 12 3.00$      1 3.00$      81
Window Seals 8 18 3/8 Pan Tapping S8 8 B-12057 -$        0 -$        85
Window Seals 8 18 1/2 Pan Tapping S13 8 B-13283 15 3.00$      2 6.00$      86
Window Seals To doors 8 18 3/8 Flat head  Tapping SS B-13340 20 3.00$      1 3.00$      74
Window Seals To doors 8 18 1/2 Flat head Tapping S8 B-11419 12 3 00$ 1 3 00$ 74Window Seals To doors 8 18 1/2 Flat head Tapping S8 B 11419 12 3.00$     1 3.00$     74
Window Seals To doors 8 18 1/2 Oval Tapping SS B-11131 50 3.00$      1 3.00$      81
Window Seals To doors 8 18 3/8 Pan Head Tapping S8 8 B-12057 20 3.00$      1 3.00$      85
Windows Window Regulator Screws 1/4 20 5/8 Hex Machine S13 2 B-12027 2 3.00$      1 3.00$      97
Windows Window Regulator Oblong Washers 1/4 Flat Washer Washer S13 2 B-11751 2 4.00$      1 4.00$      180 Incl. nylon washers
Windshield Pillar Moldings 8 18 1/2 Round Washer Tapping S8 8 B-11712 -$        0 -$        90
Wiper Fluid Bracket Screw to the inner fender 10 16 1/2 Hex Washer Tapping 5/16 0.38 S2 2 B-12081 10 3.00$      1 3.00$      78

Measured - Not all AMK parts identified Washer?
Bellhousing Bellhousing to block 7/16 14 1 3/4 None S2 6 6.00$      2 12.00$    17
Brake bleeder Wheel cylinder bleeder 1/4 28 0.92 Hex special S36 2 B-12787 3.00$      1
Brake wheel cylinder Brake wheel cylinder to backing plate 1/4 20 1/2 Hex with split lock S2 4 B-12507 4 3.00$      1
Clutch Pressure plate to flywheel 3/8 16? 3/4 Split Lock S2Clutch Pressure plate to flywheel 3/8 16? 3/4 Split Lock S2
Coolant crossover Coolant crossover to block 3/8 16 2 1/8 S2 4 B-11347 15 3.00$      2 6.00$      14
Coolant crossover Coolant crossover to block 3/8 Flat S2 4 B-10158 2
Differential cover Differential cover to axle housing 5/16 18 1 Hex Flange S2 10 B-13073 4 5.00$      3 15.00$    
Front crossmember Front crossmember to frame 3/8 16 1 Hex Machine 9/16 S2 4 B-12787 8 5.00$      1 5.00$      12
Front crossmember Front crossmember to frame Split Lock S2 2 B-10148 4
Front crossmember Front crossmember to frame Hex Nut S2 4
Front crossmember Crossmember to frame 3/8 16 1 Flat? S7 Mark T10
Fuel tank Fuel tank strap bolts 3/8 16 3 1/2 Hex S2 2 B-12302 4 5.00$      1 5.00$      
Fuel tank Fuel tank strap bolts 3/8 16 Hex Nut S2 2 B-10074 2 3.00$      1 3.00$      
Idler arm Idler arm 3/8 Split Lock B-10341 2
Inspection cover Inspection cover to bellhousing ??
Motor mount Motor mount to cast bases on frame 7/16 14 3 3/4 None S2Motor mount Motor mount to cast bases on frame 7/16 14 3 3/4 None S2
Power steering pump Power steerting pump to bracket 3/8 16? 3/4 None S2
Rear bumper Rear bumper brackets 1/2 1 3/8 Hex S2 1 4.00$      2 8.00$      
Rear bumper Rear bumper brackets 1 1/4 dia. Crown Washers 1 B-13676 4 3.00$      2 6.00$      
Starter Starter to block 7/16 14 1 S2 2 5.00$      1 5.00$      16
Starter Starter to block 7/16 14 Split Lock S2 2 B-13682 4 3.00$      1 3.00$      187
Thermostat Thermostat housing to coolant crossover 5/16 18 1 Hex Flange S2 2 B-13056 20 6.00$      1 6.00$      24
Transmission Trans to bellhousing lock washers 1/2 Split Lock S8 4 B-11787 4 3.00$      1 3.00$      187
Transmission Trans to crossmember 7/16 14 3/4 Split Lock S2
Transmission Trans to bellhousing 1/2 13 1 1/4 Split Lock S7 Dan
Transmission Tailhousing to Trans S2 Dan
Upper ball joints Upper ball joints 1/4 20 3/4 Split Lock Hex S2 8 8.00$      1
Upper ball joints Upper ball joints Lock nut 8 B 11842 12 3 00$ 1 42Upper ball joints Upper ball joints Lock nut 8 B-11842 12 3.00$     1 42
Upper ball joints Upper ball joints Flat 8 B-10522 8
Z Bar Z Bar support to frame B-12508 4
Z Bar Z Bar support to frame

Page 3


